Review of Logarithms:
Write in logarithmic form:
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Write in exponential form:
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Evaluate:
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Solve for x:
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A piece of antique pottery, currently valued at $550, appreciates 7% annually.  What will its value be in 2025?

When will its value be $700?

The denominator is a root – do it first 





Remember – a negative exponent reciprocates the number








For order: use a spiral – start with the base











_1189408590.unknown

_1189409361.unknown

_1189409430.unknown

_1189409500.unknown

_1189409388.unknown

_1189409303.unknown

_1189408566.unknown

_1189408571.unknown

_1189408562.unknown

